BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited) OFFICE OF THE GENERAL MANAGER, W.J.AREA, MOONIDIH, DHANBAD

Dated: 25.11.2010

Ref.No. WJA/MND/Civil/Tender/05/2010-11/54/4345

TENDER NOTICE

Sealed percentage rate tender on above/below basis in two parts (part I & II) are invited from experienced and eligible contractors for taking up the following work.

Name of Work	Estimated Cost	Earnest Money	Cost of Tender Paper	Time of Completion
Construction of generator shed at Kapat ghat, WJA, Moonidih	Rs. 4,20,021.77	4,200.00	250.00	1 month
Construction of flooring and room at generator shed, WJA, Moonidih.	Rs. 3,45,432.13	3,500.00	250.00	1 month

Tender paper will be issued from 10.12.2010 to 13.12.2010 during the Office hours.

Tender will be received up to 3.00 PM. On 14.12.2010 & will be opened on the same day at 4.00 PM. at conference hall, Moonidih

Eligibility Criteria:

- 1. The intending tenderer must have in its name experience of having successfully completed similar works during last 7 (seven) years ending last day of the month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:
 - > Three similar completed works each costing not less than the amount equal to 40% of the estimated cost **or**
 - \succ Two similar completed works each costing not less than the amount equal to 50% of the estimated cost or
 - > One similar completed work costing not less that the amount equal to 80% of the estimated cost.
- 2. Average annual financial turnover of civil work during the last 3 (three) years ending 31st March of the previous financial year (i.e. during 2007-08 to 2009-10) should be at least 30% of the estimated cost.
- **3.** Intending Tenderer should submit permanent account No. issued from I.T department. Also the tenderer must be registered with the appropriate State Government Authority in accordance with sales Tax Act.
- 4. Similar work means: General Civil work.
- The tender documents can be had from the office of the ACE W.J.Area, BCCL on deposition of requisite cost of tender paper in form of cash with Cashier, W.J. Area, Moonidih from 10.12.2010 to 13.12.2010 during office hours.
- 6 Completed sealed tender documents (part I & II) Technical / Commercial bid (part-I) & price bid (part-II) should be submitted at the time. The tender will be received up to 3.00 PM. On 14.12.2010. in the office of the ACE, W.J.Area, Moonidih and will be opened at 4.00 PM. on the same day in presence of the intending tenderer or their authorized representative. Only part- I will be opened on 14.12.2010 up to 4.00 PM. Part-II will be opened only after the department is satisfied that the criteria fixed are fulfilled and also the earnest money is deposited i.e. on acceptance of Part-I.
- 7 The tenderers have to submit Permanent Account Number of Income Tax(PAN No.), VAT clearance certificate.

- **8** Tender documents can be down loaded from Website No. http://bccl.cmpdi.co.in & http/gov. terders:nic.in & can be used for submitting tender at designated place & time by hand.
- **9** The management of BCCL reserves right to reject any or all the tenders without assigning any reasons whatsoever and to split up and distribute the work amongst the tenderers.
- 10 No tender will be issued or submitted by postal means.
- 11 The earnest money should be deposited in form of bank draft of a nationalized bank in favour of "Bharat Coking Coal Limited" payable at Dhanbad. The earnest money is to be deposited as per detail given in the tender documents.
- **12** Conditional tenders will not be accepted.
- 13 No material will be supplied by the department for the work and will be responsibility of the contractor for procurement of the same at his own cost.
- **14** Issuance of tender documents does not mean that the parties are considered qualified. Late or delayed tender shall not be accepted.
- 15 The experience as given in the eligibility criteria should be in the name and style in which tender in filled. The experience in the name of some other firm / company will not be considered for this purpose.
- 16 The validity of the tender will be 120 days from the date of opening price bid or revised price bid if any.
- 17 The work will not be subject to any Arbitration.
- **18** Contractor has to abide Central Labour Regulation Act, 1970 & allied Labour Laws amended up-to-date.
- 19 Income Tax & Sales Tax will be deducted as per rule.
- **20** A) Declaration regarding genuineness of the documents submitted & non-relationship in BCCL in original.
 - B) Declaration that they have not been banned or de-listed by any Govt. or Quasi Govt. Agencies or PSU's.

Note: The general Terms & conditions etc can be seen in the office of the area civil engineer WJ Area Moonidih.

Chief Engineer(C)/ACE W.J.Area, Moonidih

W.J.A

Distribution:

- 1). The G.M, W.J.Area, Moonidih
- 2). The G.M (Const.), Koyla Bhawan, Dhanbad,
- **3).** C.V.O.,BCCL,Koyla Bhawan, Dhanbad.
- **4).** The Addl.G.M., WJA, Moonidih,
- **5).** The A.F.M., WJA, Moonidih
- **6).** The A. C.E. (Area No. I to XII), P.B.Area, Bhalgora Area, Block-II Area, E.J.Area
- 7). Project Officer, Moonidih / MLD.20/21 Pits/ Lohapatti.
- 8). Manager System (EDP), Koyla Bhawan for publication in BCCL Web site
- 9). The Builder Association of India, 16, L.T.G., Housing Colony, Dhanbad
- 10). Sr. Cashier, WJA, Moonidih,/
- 11). All Notice Board.

BILL OF QUANTITY FOR THE WORK OF CONSTRUCTION OF GENERATOR SHED AT KAPAT GHAT, WJA, MOONIDIH

SI. No.	Description of works	Quantity	Unit	Rate	Amount
1	Earth work in excavation in foundation	23.36	Cum.	103.40	2415.42
2	Earth filling in foundation	7.78	Cum.	45.70	355.54
3	P.C.C.(1:3:6) in foundation	41.19	Cum.	2560.20	105454.63
4	Brick work(1:6) in F&P	12.66	Cum.	2007.00	25408.62
5	Brick work(1:6) in S/S	18.28	Cum.	2315.65	42330.08
6	R.C.C. (1:2:4) in lintel, slab	5.99	Cum.	3673.85	22006.36
7	Sand filling in foundation	3.92	Cum.	301.50	1061.28
8	M.S. reinforcement	599.00	Kg.	42.70	25577.30
9	Roof grading in C.C.(1:2:4)	1.26	Cum.	3314.95	4176.83
10	P/L four courses water proofing treatment with bitumen felt	36.00	Sqm.	184.80	6652.80
11	P/F rolling shutter	14.40	Sqm.	1779.85	25629.84
12	12mm thick cement plaster (1:6)	188.38	Sqm.	67.65	12743.90
13	6mm thick ceiling plaster(1:3)	34.31	Sqm.	62.15	2132.36
14	12mm thick cement plaster(1:4)with punning	5.82	Sqm.	97.90	569.77
15	White washing two coats	222.69	Sqm.	6.75	1503.15
16	Painting two coats	34.56	Sqm.	33.35	1152.57

17	Centring & shuttering				
а	For roof slab	35.00	Sqm.	187.35	6557.25
b	For lintel	18.67	Sqm.	162.65	3036.67
18	Electrification				
а	Wiring for light point	10.00	Nos.	397.00	3970.00
b	Wiring to 15A plug point	2.00	Nos.	161.00	322.00
С	Wiring to 5A plug point	2.00	Nos.	102.00	204.00
d	P.B. box	1.00	No.	301.00	301.00
е	Main switch	1.00	No.	1128.00	1128.00
19	Structural steel work	470.00	Kg.	42.15	19810.50
20	P.C.C. (1:2:4)	28.00	Cum.	3695.95	103486.60
21	Surface dressing of ground	397.44	%m2	512.10	2035.30
				Total	420021.77

CHIEF MANAGER(C)/ACE WJA: MOONIDIH

BILL OF QUANTITY FOR THE WORK OF CONSTRUCTION OF FLOORING AND ROOM AT GENERATOR SHED OF WJA, MOONIDIH

SI. No.	Description of works	Quantity	Unit	Rate	Amount
1	Earth work in foundation & pling	2.04	Cum.	103.40	210.93
2	12mm cement plaster 1:6	132.31	Sqm.	67.65	8950.70
3	52 mm P.S. flooring 1:2:4	128.15	Sqm.	286.55	36721.38
4	Dismantling plaster	132.31	Sqm.	8.20	1084.94
5	Dismantling old damaged flooring	6.66	Cum.	368.45	2453.87
6	Providing 4 course tarfelt	598.79	Sqm.	184.80	110656.39
7	Dismantling AC sheet roofing	40.89	Sqm.	11.75	480.45
8	P/F AC sheet roofing	138.47	Sqm.	244.80	33897.45
9	R.C.C. slab 1:2:4	9.45	Cum.	6002.80	56726.46
10	Reinforcement for RCC	880	Kg.	42.70	37576.00
11	Centering and shutting	13.94	Sqm.	119.25	1662.34
12	Providing water proofing treatment two coat	1688.98	Sqm.	27.95	47206.99
13	Painting two coats	180.63	Sqm.	22.85	4127.39
14	Oil bound distemper two coat	171.05	Sqm.	14.90	2548.64
15	P/F A.C. ridge	10.00	RM	112.82	1128.20
				Total	345432.13

CHIEF MANAGER(C)/ACE WJA: MOONIDIH